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L 11 -so First Mip Term TEST - 2023
" Time : 1.30 Hrs PHYSICS MARKs : 35
I () Answer all the questlons. II) Choose the most sultable answer from the given
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ite the option code and the corresponding answer. 10X1= 10
?is a) Length b) Time c) Velocity d) Force

alternatives and wr

The dimenslon of (&)

The dimension formula for gravitation constant Gls
a) [ML3T-2) b}-[M'?Lz"T‘Z] ¢) (M-1L-37°2] d) (ML-372]
If p = 3.14, then the value of p 2|s a)9.8596 b) 9.860 c)9.86 d)9.9

The smallest practical unit of time Is ..........
a) Shake b) Second ¢) Microsecond d) Mln_yte
Planck’s constant (h), speed of light of vacuum (c) and Newton's gravitational con-
stant (G) are taken as three fundamental constants, Which of the following combina-

JhG JhG w Ge
tions of these has the dimension of length? a), -11 b) _5; c) JE d) 1,%

¢ 2
1 radian = weiennnn (degree) a) 57.39° b) 59.27° c) 57.27° d) 54.27°
If a particle executes uniform circular motion, choose the correct ‘'statement
a) The velocity and speed are constant b) The acceleration and speed are constant

¢) The velocity and acceleration are constant

d).The speed and magnitude of acceleratlon are constant

Consider two tralns A and B moving along parallel tracks with the same velocity In the
same direction. Let the velocity of each train be 50 Kmh-1 due east. Calculate the
relative velocities of the trains a) 50 Kmh-1 b)0 Kmh=1 c) 100 Kmh-1 d) 25 Kmh-1
An object Is dropped in an unknown planet from helght 50m, It reaches the ground in

"2 6. The acceleration due to gravity In this unknown-planet Is

a)g = 20ms-2 b)g=24mS"% c)g =15 ms & d) g = 30ms-2
o T | . i+]
Identify the unit vector in the following @) i + j b) E e) k- 7; d), —J_-Z_

- Answer any three questions. Question Number 15 Is compulsory.

Mention the uses of Dimensinal analysis. 3X2=606

!
Check the correctness of the equation § = HHEHf:using dimensional analysis method.

How do you deduce that two vectors are perpendlicular?.

What Is projectile? Give an example.
From-a point on the ground, the top of a tree Is seen to have an angle of elevation

60° .The distance between the tree and a polntis 50m.
Calculate the helght of the tree?

Answer any three questions. Question Number 19 Is compulsory.

Write a note on radar method to measure larger distances. 3X3=9
Explain the propagation of errors in multiplication,

Explain any three types of Motion, )

An Iron ball and a feather are both falling from a height of 10m.

a) What are the time taken by the iron ball and feather to reach the ground?
b) What are the velocities of iron ball and feather when they reach the ground?
(Ignore alr resistance and taken g = 10 m5-2,)

Prove that the path followed by the projectile Is a parabola.

Answer all the questions. 2X5=10
a) What Is an error. Explain In detall various types of errors, (OR)

b) What are significant figures? State the rules of significant figures,

a) Explain Trlangular Law of addition of two vectars. (OR)

b) State the properties of vector product,
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